coB ® 23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180, Fax. 714.692.5016
. .. www.cobrausa.com

Items Supplied > Application(s) >

1 - Left Saddlebag Support \ YAMAHA V-STAR 950 09-15 \

1 — Right Saddlebag Support

4 — M8 Spacers

2 — M8 x 45 mm SS Buttonhead Bolts
2 — M8 x 60 mm SS Buttonhead Bolts

Instruction Manual > \ 02-6225 Q

Your saddlebag supports will install in just a few minutes using common tools. Read all instructions
carefully and completely before installing your new saddlebag supports.

1. Remove your stock fender rail bolts.
2. Place the supplied spacers in the front and rear recessed holes on the fender rails.

3. Install your Cobra saddlebag supports using the supplied M8 x 60mm bolts for the front holes and M8 x 45mm
bolts for the rear holes. The saddlebags supports should hang towards the rear and away from the motorcycle.

4. Torque bolts to factory specifications.

*Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under

the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.

orlog Anything's Possible.




coB ® 23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180, Fax. 714.692.5016

www.cobrausa.com

Items Supplied > Application(s) >

1 - Left Saddlebag Support YAMAHA V-STAR 950 09-15
1 — Right Saddlebag Support

4 — M8 Spacers

2 — M8 x 45 mm SS Buttonhead Bolts

2 — M8 x 60 mm SS Buttonhead Bolts

Instruction Manual > \ 02-6225 )

Your saddlebag supports will install in just a few minutes using common tools. Read all instructions
carefully and completely before installing your new saddlebag supports.

1. Remove your stock fender rail bolts.
2. Place the supplied spacers in the front and rear recessed holes on the fender rails.

3. Install your Cobra saddlebag supports using the supplied M8 x 60mm bolts for the front holes and M8 x 45mm
bolts for the rear holes. The saddlebags supports should hang towards the rear and away from the motorcycle.

4. Torgue bolts to factory specifications.

*Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under

the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.

8%(76[\6;NT NO. 0019 REV. A Anyth’ng 'S POSS”J’ e. ®




